Baker-Campbell-Hausdorft1 U [0 [J [ [J

0o O

20080 100 100 (0)O O

gbobobooggbobobooogbobobog.

001 AD00000000D00000,F=eA000. ¢(x) 0

n_

(z —1)"*

o) = log x log(l + (z—1)) Z

r—1 r—1

oooo
dlog F = (Ad F)(dF - F7') = (Ad F1)(F~'dF).

00.e*A=AeA0000 d0000000 d(e)A+ eAdA=dAe? + Ad(e?). 000

(ad A)(d(e?)) = Ad(e?) — d(e”)A = edA — dAe?
= (eMdAe ™ —dA)e? = (Ade? — 1)(dA)e?

googdg
. adA AN A
legF_dA_AdeA—l(d(e Je )
log Ad F 1 -1
= F-F ) =¢(AdF)(dF - F ).
AT (ar - ) = p(Ad F)(dEF - F )
goodooo
—(ad A)(d(e?)) = d(eM)A — Ad(e?) = dAe? — eAdA
=eleAdAe? — dA) = e (Ade ™ — 1)(dA).
googd
B . —adA A A
legF_dA_Ade*A—1<e d(e™))
_ logAdF!



00 2 (Baker-Campbell-Hausdorff) 0000 A, BOOOO

= i (_1)’”71 Z adzjﬁl ad% e adi"—l ad(gl—l(A)
n

pila! - proilgn !

n=1

O00.0000000 Y 00000000 p1,qus--sPret1s@ua1 O D 1(pl—l—ql)
00 ps+¢>0G=1,...,n—1)00000000000CCO0O0O0O0O. 0000

1
= — ~1)™ ' Z,.(B, A
eel explzm B)+ (=1)""'Z,(B, A))
00. F(s,t) = eetB, F(t):ﬁ(t,t)—etAetBDDD log F(1) = log(ee?) 00000
000.00000 4logF()000000. 28 =AF, 22 —FBO 00100
o, ~ OF N
55108 F) = (Ad F) (asF ) = Y(Ad F)(A),

9 -1 18F -1
at(logF) YAdF) (F 85) Y(AdF~)(B).
000
Liogr = Kaﬁ ; %) log ﬁ] = U(AAF)(A) £ H(AdF)(B).
Y(z)0OOODO

P(AdF)(A ):¢(€t‘”‘dA tadB)( )

Z _ <Z %m%&) (A) =3 t"1Z,.(A, B).

n=1 p+q>0 m=1

O0O000 A BOOOO,t0 00000 0DOOODOO

GAAF)(B) = (e ™ Pe ™) (B) = 3 (—1)" 471 Z,,(B, A).

m=1
ooooo
d = m—1 m—1
ElogF:mZ:lt (Zu(A,B) + (=1)"'Z,,(B, A)) .

logF(0)=10000000000000

log F(#) i tm ) (~1)" 1 Z,(B, A)).

m:l

0000 logF(1)ODOOODO0DO0ODOOOOOOOOOOOOOD.



